Potencias de 10 (G)

Calcule los siguientes productos y cocientes.

1.1947 x 10! 6.148 - 1073
3.5553 x 1072 6.0737 +107!
5.3632+102 2.6349 x 107!
6.794 ~ 107! 9.0055 107!
5.0794 x 107! 2.887 x 1073
8.4416 x 102 9.193 =103
8.5624 + 1073 3.1425+ 1072
6.8532 x 107! 4.6042 x 107!
3.9847 x 107! 1.3909 x 1072
4.7604 + 1072 1.3819 =103
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Potencias de 10 (G) Respuestas

Calcule los siguientes productos y cocientes.

1.1947 x 10~! 6.148 = 1073
0.11947 6,148
3.5553 x 102 6.0737 + 107"
0.035553 60.737
5.3632 + 1072 2.6349 x 107!
536.32 0.26349
6.794 ~ 107! 9.0055 107!
67.94 90.055
5.0794 x 107! 2.887 x 1073
0.50794 0.002887
8.4416 x 102 9.193 =103

0.084416 9,193
8.5624 + 1073 3.1425+ 1072
8,562.4 314.25
6.8532 x 107! 4.6042 x 107!
0.68532 0.46042
3.9847 x 107! 1.3909 x 102
0.39847 0.013909
4.7604 1072 1.3819 =103
476.04 1,381.9
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